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B NAC - AL B
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
=LA 4,529,604 3,509,504 1,020,100
= 700,000
Al 3,829,604
o=k - Al 22 2,529,604 2,509,504 20,100
== 700,000
Al 1,829,604
2nE=EAE A2 &3 1,997,422 2,023,698 N26,276
< 700,000
Al 1,297,422
A2E2sEAE £X 401,008 361,008 50,000
401 Al HIZL 201 401,008 361,008 50,000
01 Al&H| 400,000 350,000 50,000
OLn2EAlE SEACALEY 2=
50,000,000 *8IH 2 400,000
03 Al S THYI 1,008 1,008 0
OAl4 S THYI 1,008,000 *14] 1,008
22 AE 2 596,414 672,690 NT6,276
401 AIEHIZ SR 0HYI 596,414 672,690 NT6,276
01 Al&H| 595,000 671,000 AT76,000
OSMAEA ARZLEEAE HES
400,000,000 * 14 400,000
OXEH 252l 25 2 9HA =83 &
A 6,000,000 * 1091 2 60,000
ORlote 2 da=m+
5,000,000 7K 2= 35,000
O=ZZUAE A2 EX
20,000,000 54 2~ 100,000
03 Al 2 HHI 1,414 1,690 N276
OAI4 2THYI 1,414,0002 14| 1,414
AP EAIE HE(HEAY) 1,000,000 1,000,000 0
s 700,000
Al 300,000
401 AIEHIZ SR OHYI 1,000,000 1,000,000 0
< 700,000
Al 300,000
01 Al&HI 1,000,000 1,000,000 0
OLRAZ2=ZAIE HEALSE
1,000,000,000& *14] 1,000,000
= 700,000
Al 300,000
NRet === 52 532,182 485,806 46,376
AR AE =2 327,382 281,006 46,376
201 ger=3| 153,400 157,804 N4,404
01 AtR2te|H] 1,000 1,000 0
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ODIS42E +52 BE2IAN HA
1,000,000 %14 1,000
02 S3=gHl 152,400 156,804 A4,404
OAARsEAE Al &IIRs
1,000,000& «12& 12,000
OARAZEZAIE EotE TV &JIes & &
23 ABE 900,000 * 122 10,800
OAaml==ZA4 =83 KXl
60,000,000& * 14 60,000
OLEZAIE sE2tk
60,000,000& * 14! 60,000
OAARSEAE RLHHIES
800,000& 122 9,600
206 M=l 13,680 17,900 N4,220
01 MZH| 13,680 17,900 N4, 220
OA=E HMEA 25,0002 %3005 7,500
O=aMelAE Hdg 23
17,0003 »40% 680
ORT =4 1,500,000 *14] 1,500
Od=+XclAlE D0l =22 H
8,000 *5007H 4,000
401 A& HIX R0 160,302 106,302 55,000
01 AlZH| 160,000 105,000 55,000
OXIot==IHE0ISAIE A= 2]
5,000,000 *109H 2~ 50,000
OXlote= HEO0l HE XIoks SSEASHA
5,000,000 =2JH 2= 10,000
OAARsEAE HSFEI & O wH
5,000,000 100H 4 50,000
ODIB44E JISTE 8
10,000,000 *59H 2 50,000
03 Al 20HHI 302 302 0
OAIZ20HHI 302,000& *14] 302
25013 ol 204,800 204,800 0
202 04l 4,800 4,800
01 2LHoIH 4,800 4,800
OanZa=T A& 25 23Xl ob]
400,000 12& 4,800
401 Al HIZ S OHbI 200,000 200,000
01 A28l 200,000 200,000
O =20 A AL
4,000,000 +50IH £ 200,000
HWRES(=TAIZ) 2,000,000 1,000,000 1,000,000
WA XIE 2,000,000 1,000,000 1,000,000
dEAY SEIH MES 2,000,000 1,000,000 1,000,000
701 JIEtRI NS HES 2,000,000 1,000,000 1,000,000
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